H(00) =S5+ Fy +P*+Dj +D? + Pl + D%

1 2
H(10) = —=5,F, Dy + P D +P D,
{ ] ‘\/ﬁ 0+ 0 ‘k../_ 0 ‘1./'/_{ j
1 1 1
H(11) = —=SP-+—=FPD- ——P.D
(1) = JgSP-+ 5l Ve
1 2 2 1 2 2 2 2 1 2 2
H(20) = ESDEH - EP — E{P_ + P7) + ?Dﬂ - ?[D_ + D7)
1 1 /3 1
H(21) = —S,D_ + =/ =P, P_ DyD_
(1) = 7755 +5\[“ 7
13 5 . 13,
H(22) = 3| 5(P2 = P) + =/ 5(D2 - D3)
H(30) = ?}{IFGDG —~P.D_—P.D,)
L}
1 /3
H(31) = =y | £ (2R D- +V3P_Dy)
]

1 (3
H(32) = ?\/; P_-D_— P.D.)

2
H(40) = = Di — {DE+D‘]

E
H(41) = %\/I DyD-

H(42) = 21 D_—D+?|



